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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Trend plot forP3-13 0

minFVI
minFVO

Warning: col ['minFVliraw', 'minFVOraw|] is missing

[ ] ETcAlraw
—  ETcATl
—@— ETcA

1.0

0.8 -

0.6

0.4+

0.2~

Warning: col [ ETcA2raw’, 'ETcA2avg’', 'ETcA2’] missing

0.0

5000 -

4000 -

3000 -

2000 -

—@— ECopt
—0— ECI
—@— ECO

= & - = =)

28 V =« 974

) o & & 8988 S <

Warning: col ['ECC’] is missing

1000

7.0

PHopt
PHI
PHO

tt¢

arning: col ["PHC ] is missing

31.5 -

31.0 A

30. 5 -

30.0

29.5

29.0

28.5

—@— WCperM

Warning: col [ WCperMraw’ , 'WCperMavg!] is missing

0. 50

0.45

0. 40

0. 35 -

0. 30

0. 25 -

0.20

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

30 A

28 A

26

24 -

22 -

20 -

adjFVOR

-0. 02 ~

-0. 04 ~

Warning: col [ adjFVIRraw', "adjFVIR'| "adjFVORraw ] is missing

FRA
FRC
FRraw
FR

60

58 -

56

54

52

50 A

48 ~

—@— beg wc

0 10 20 30 40 50 60

300 -

250 -

200 A

150 -

100 -

50 -

o postFgEtraw
—@— postFgEtavg
—@— postFgEt




FgDai ly




TTTTT
EEEEE




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

1 |
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai  pR pVPD VN |

PPFD

T

1.0

0.8

0.6

0.4

-0.2

-0.0



ETcl

ETol

1200 4 ° ¢
| °
1000 4 _ . .
. . .) . \.J. . .ﬂ.
N .. o0 € 3)’ e
i ® % ® N S "’} ;
& i ° (4
600 - ’ ) " .. . . |
J ° . ° o0 ; ’ . ’z .
400 - ¢ o o |e0e® ® , o .
i ® o e o ° ° Y * ’ : +
. [ ] ’ )
- ) . . ... o )
o o °° ° e . ° ’ .
i o o ©° e®® o %% o ’ ’
. ) oo o o® . A . ° .'6 ° ° :: :
T T T T T T Q .j‘a ..
1750 4 | | | : -
. . . T T T T T
] @ o i ®
] . & e® .U o '..s. o0 o .. ®
| . . 22 . 0’ *e% ® . @ e a @
i o {o® s ° ¢ ® b ()
= . : - Se. o (] Jos
_ . .S | % . o® B¢ %
° o  © ° ° ¢ o ° Tl
= ° ’ i ° ° ° o0
° ° ° % P ® de 3¢
_ . o 00
750 - ; _ ’ . -
. . | ° °
500 A ’ X . .
| ° .o ° .
250 - .. _ . .
T T .. )
N ] ] . T T ™ T T T ° °
. . T T T T T
Y eo_ 0O . I
wle®’08%e & . . :
° ° 9 : .
. ( '.‘ [ ] [ .J
) P ®e% ¢
— 18 ® ° L ® o s:‘,. aa N
~ . . .
° % ¢ ) . oy
® ® : .
160 ,®® ° .
° ° . ° .. [ ] .’ ®
o ° ® () ¢ .. ..‘. .
i . o ® .. ° ° % °
° . ' R
° ° . . .
T T . .
: | | .o °
90 A
. . . | . T T T .
. | . T T T T
°
N : ° o ®
. | °
lo e ° & ° ® o
10 %0
. g o o0
[ ] T
8o o . *C . et
60 @4 ° o2 co® O v
° ° ® o709 X :
® & ®g 0 o ) ..o.’. i . P
501 e o © e . RS
° o0 p - &
. o o © . :
o & ¢
40 - , , o :
T T T ™ . ..
1200 - ° ° -
°
| T T T T
1000 - ®e B8 ’
[ ] %
(< o .". 1 .
800 - . :
| ° < )
e0 © B
600 ¢ e
o ® ([} |
400 - o °
° ® o0 o ® ° } e
o A
°
200 { ¢y "% © . ® o Lo ° B’y
® ° ° “° . ® .:O‘a i | . .
1 e
0 I I . ¥ . ° @ o
T T ] . . .
] T T . .
400 . o %% - —— .:
350_ . .. .h.. Y (’.‘ :)‘.(.(s T T T T
300 o ®ew ¢ §e%™° ]
. ee y
° ®
) ° o ° ° °® « i
o o ° T ° ]
2001 @ ® o ° ° .
oo © 4 e o ° . ’
150 4 _ . -
. o0 ° )
100 4 ¢ |
° ° i ’
504 @ | .
T T . T L . .
500 1000 50 I I I _
0 1000 1500 I I I . 54 -
1l o 12.5 15.0 17.5 20.0 22.540 6|0 8|0 : I
; 500 1000
o W 100 200 | 300 400



2000 -

1750 ~

1500

1250

1000 ~

750

500

250 -

(L
™

g

® obs
Fit

100 150

baiA

baiB

1.0

0. 942

0. 0054

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2 0.4

0.6 0.8

1.

obs

1200 ~

1000

800 -

600 -

400 ~

200 -

Fit vs obs: a=0.88, b=-3.73

r=0. 86

1.0

600 800 1000

Fit

400

1200

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4 0.6 0.8

1.

0



hour

110

:10

:20

:30

145

100




P3-13

BfiE) | FEBIETK (D) | E=E (EH/E) | XK R

08:10 326 150.0 Be| ThiHHe08:10 REFEF (KFAEZRE)
09:10 326 150.0 FA| FnHR@09:10 REIFEF (RFEERES)
10:10 326 150.0 FA| FnHfe10:10 REFEF (REERES)
11:10 326 150.0 FA| FHA@11:10 KREFEF (KRR
12:20 326 150.0 FA| FnHe12:20 REFEF (REERES)
13:30 326 150.0 FA| FiHAe13:30 KEFEF (KRS
14:45 326 150.0 FA| FhHA@14:45 KEIEF (KRS
29t 2282.0 (7%) 1050. 0 32 HKEC: 2080.0, PH: 5.6

REREBIEC (2610.0) HiZEEC (2000.0) REK K, BHEE
HEEIHECE (2610.0 vs 4075.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=42 (2025-05-12)

V1, VB®RY, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

1 1300 278

194

835

00 00

- 2000

- 1500

- 1000

- 500

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=5.6

200

100 -

1.0

ByWoFv @D42

& e & o

1500

- 1000

- 500

19

20

21

22

23

0.8 -

N ERS

E3
B

=
B

£33
B

FA

A

0.6 1

0.4+

0.2~

600 -

400 -

200 -

"PPFD_obs’] is missing

A A Warhing:,‘:ol

25 4

20 -

15

10

"To_obs'] is missing

80 A

60

—— RH Warning: col ['RH obs’, 'RHo obs’'] is miss]|

0.6 1

0.4+

0.2~

0.0
0.0

0.2 0.4

0.6

0.8

1.

0

—

FRV (ml d

cumET (ml/plant)



hour

105

:55

:55

:00

105

125

145

100

80

- 60

- 40

§_

&
%
&
4,
%
)
%
&
N
xe,%_}\
T
Y
%

@f%$
%
%

%

3,



P3-13

BYiE) | GEBIRTIK (D) | EBE (EA/#K) | XS ERE

07:20 288 150.0 el {Ri&e07:20 Bal (REAEESE)
08:15 288 150.0 BE| {Ri&e08:15 Bl (REAEHE)
09:10 288 150.0 S| {Ri&e09:10 Bzh (REERSE)
10:05 288 150.0 el {Ri&e10:05 Bal (REAEESE)
10:55 288 150.0 S| Ri&e10:55 BHal (REAEHSE)
11:55 288 150.0 e Rige11:55 Bz (REAERSE)
13:00 288 150.0 el Rige13:00 Bal (REAEESE)
14:05 288 150.0 | {BRige14:05 B3 (RPERKS)
15:25 288 150.0 BS| 1Ri%e15:25 Bz (GGREMEESE)
16:45 288 150.0 BE| 1Ri%e16:45 Bzh (GREMERESE)
2it]2880.0 (107%) 1500. 0 33 KEC: 2080.0, PH: 5.7

TERRHEBR 2 STEEART (187.0 :

ZRIASERRIERE132.0 ml.

132.0), AlEEHT—@ % XA HS
LoRGERRETC (288) 574 (326. 0) FF, FIREH T & MG EIRS %2 XER

large discrepency for begining water status (223:21.0), set to 223 ml.
FEXRFERIEC (2650.0) 5iZEEC (2000.0) {RER K, 1HHRE

HEEIHECE (2650. 0 vs 3888.0) 1R e




P3-13_0, Day=41 (2025-05-11)

150 A

100 A

50

200 -

150 A

100 A

FRV (ml plant-1)

50 A

a . 1870
VI, VO, ERV, ET — VI, VO, FVI, EVO, FRV, ad jFRV, ET

1200
059

186 Warning: lcol [FVI',| "FVO’'] missing 194

- 2000

- 1500

- 1000

- 500

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

100 A

ET (ml/hr/plant)

300

]
Bylnit @D42 103:03: ET=1534 Fg=2100.0 Ro=526.0

i 3000
- 2000

- 1000

a2
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

T
[ =]
o
o
o

200 -

ET (ml/hr/plant)

]
|_
-

/
i

E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 i i 5 5 i i 5 G A B 5 5 A B 5 G A B 5 G A

ByEt @41 19:07: ET=1529 Fg=1320.0 Ro=nan

- 2000

- 1000

300

3 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

T
[ =]
o
o
o

ET (ml/hr/plant)

1
1
1
1
100 ~ - |
|
0 S P SE—- 1
0 4
i5

200 -

100 A

T'
I ™

B 7 | #E | FE | PR | FR | PR | FR | BR | BR | FR | FR | BR | FR | BR | R | R | B | B |5 |Zn|5n

I
ByWoFv @D42 103:03: ET=1233 Fg=1500.0 Ro=196. 0

1

- 2000

- 1000

1.0

0.8

0.6

0.4+

x|
i

17

Tkt

—_—
[ ] | _obs
—@— PPFD obs

RH
[ ] RH_obs
(] RHo_obs

1)

FRV (ml d

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



—e— ME
34 - =
33 -
32 -
31 -
30 -
29 -
T T T T T T
500 600 700 800 900 1000
m=610,m FV0=0
33.00 - & ME
32,75 -
32. 50 -
32. 25 -
32.00 -
31,75 -
T T T
610 615 620
m=820,m FV0=0
34.04 O ME
33.5 -
33.0 -
32.5 -
820 825 830
m=460,m FV0=0
—— MW
43 -
42 -
41 -

460 465 470

m=460, FV0=0

30.5 —®— ME
30.0 A
29.5 -
29.0 -
28.5 A
T T T
460 465 470
m=665,m FV0=0
—o— ME
33.0 A
32.5 A
32.0 A
T T T
665 670 675
m=885,m FV0=0
—o— ME
34. 0 -
33.5 A
33.0 A
32.5 -
885 890 895
m=510,m FV0=0
44.5 A —— MW
44.0 A
43.5 -
43.0 -
42.5 -

510 515 520

32.

31.

31.

31.

31.

30.

33.

33.

32.

32.

34.

34.

33.

33.

m=510, FVO0=0
00 —&— ME
75 4
50
25 A
00 -
75 4
5%0 5%5 5é0
m=720,m FV0=0
54 —@— ME .h.\././.\./.
0 -
5 -
0 -
®
720 725 730
m=940,m FV0=0
1 —o— ME
0 -
5 -
0 4
9&0 9&5 950
m=560,m FV0=0
-0 MW
46
45
44 -
43 -
560 565 570

32.

32.

32.

32.

32.

31.

31.

33.

33.

32.

m=560, FV0=0

—o—

M_E

T
560

5é5 5;0
m=770,n FV0=0

—o—

M_E

T
770

T
775 780

46 -

44 -

42 -

40 -

—— MW

500

600 700 800 900 1000

m=610,m FV0=0

47 A

46 -

45 -

44 -

- MW

610

615 620



m=665, FV0=0

46 -

45 -

44 -

—o—

M_W

T
665

6%0 6;5
m=885,n FV0=0

46.0

45.5 -

45.0

44.5

44.0

43.5

—o—

M_W

T
885

T
890 895

46.

45.

45.

44.

44,

43.

43.

46.

45.

45.

44,

44,

43.

m=720, FV0=0

—— MW

R

720

7é5 750
m=940,n FV0=0

—o— MW

940

T
945 950

m=770, FV0=0
46 —o— MW
45
44
43
770 775 780

m=820, FV0=0

46. 0

45.5 -

45.0 A

44.5 -

44.0 -

43.5 A

——

MW

820

T
825

830




hour

100

8:55
9:50 80
10:45
- 60
11:40
- 40
12:55
15:15
I I I I -0
% & & B K QB
S5 LSFS




P3-13

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

08:55 288 150.0 FH| 1RRi%@08:55 Bzh (kA{EEEE)
09:50 288 150.0 FH| 1BRi%@09:50 Bz (kABERE)
10:45 288 150.0 | =| 1Ri&e10:45 Bz (REB{EEEE)
11:40 288 150.0 RS fRike11:40 Bz (REERS)
12:55 288 150.0 e Rige12:55 Bz (REAERSE)
13:55 288 150.0 sl {Ri&e13:55 Bal (REAEHE)
15:15 288 150.0 (2 =| 1BRi%e15:15 Bz (kAFERSE)
23t]2016.0 (70%) 1050. 0 ZHKEC: 2080.0, PH: 6.0

MERRHERE STAERRF (187
ZRIALBRERLE138.0 ml.
RER 3 B RECHER SR,

.0

0 138.0), AREHT—MS X5

FEXEBEC (2665.0) SiE%EEC (2000.0) REH KA, E5HAE
B [EIRECE (2665.0 vs 3542.0) RS

REXR B HEREC/PHIEER K, 7T

NN =
REF2

MR LR 3R




P3-13_0, Day=40 (2025-05-10)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

S0 F——————F————fF————F—————f 2000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1683
pap [ 15002
- 1000 £
50 =
77 L 500 &
1500 1%?' Warning: lcol ['FVI',| "FVO'] missing 186
o+—1 L 04
( o vi — ME #
200 A
32
150 frmmmmm e e e e e T N
(NN
100 + I - 30 =
50 T i | 28
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 4 ByInit @D42 '03:03: ET=1179 Fg=1200.0 Ro=42.0 2000
£
L 1500 3
e o o =
- 1000 >~
o
- 500 5
308 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
FH BH | BH [H FH BH | BH [H BH | RS i 5 5 5 i 5 5 5 i 5 5 5 i 5 [ 2000 )
1 c
200 - ByEt @D40 19:06: ET=1511 Fg=1242. 0 Ro=nan : i 1500%
——3 | 1000 =
o
L 500 5
[&]
308 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
FH BH | BH [H FH BH | BH e FH fH || BB 5 5 5 | =] B 5 i 5 5 5 i 5 [ 2000 )
1 c
200 - ByWoFv @D42 p3:03: ET=1087 Fg=1050.0 Ro=141.0 _1500:3
l —_—
1 —o—8—$ a . . L 1000 E
1
100 - : //'\P‘ .
: \\\\\“Rh%\\\\\““‘ - 500 3
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
08l M BH | BH [H FH BH | BH e FH fH || BB 5 5 5 | =] B 5 i 5 5 5 i 5
0.6 -
0.4 1
0.2 A
0.0
2000 { — 4
| _obs
PPFD_obs

RH

RH_obs
RHo_obs




33 A

32 -

31

30 -

29 A

28 A

400

T T T
600 800 1000

m=620,m FV0=0

32.

32.

31.

31.

31.

31.

—0— ME

T T
620 625 630

m=870,m FV0=0

33. 0 -

32.5 -

32.0 -

31.5 -

—o— M_E

™

855 BéO
m=485,n FV0=0

870

44 -

43 A

42 -

41 A

40 -

- MW

=

485 490 495

30.

29.

29.

28.

28.

32.

32.

31.

31.

33.

32.

32.

31.

m=430, FV0=0
—o— ME
0 -
5 -
0 .
5 -
0 -
430 435 440
m=695,m FV0=0
%7 —o— ME
0 -
5 -
0 -
695 700 705
m=940,m FV0O=0
—— ME
0 -
5 -
0 -
5 -
940 945 950
m=555,m FV0=0
—— MW
44
43 -
42

555 560 565

31.

31.

31.

31.

30.

30.

32.

32.

32.

32.

31.

31.

m=485, FV0=0

75 A

50 A

25 A

00 ~

75

50 A

M_E

485

450 455
m=750,n FV0=0

75 1

50 A

25 -

00 -

75 1

50 ~

——

M_E

—— MW
36 B T T T T
400 600 800 1000
m=620,m FV0=0
—— MW
44 -
43 -
42 -
620 625 630

m=535, FV0=0

32.0 A

31.8 -

31.6

31.4 -

31. 2 -

31.0 A

M_E

5é0 5é5
m=805,n FV0=0

33. 00 A

32.75 A
32.50
32. 25 A
32. 00

31.75 A

31. 50 A

8%0 8%5
m=430,n FV0=0

40 -

39 -

38

37

435 440
m=695,m FV0=0

430

44 -

43 A

42 -

- MW

w

695 700 705




m=750, FV0=0

—— MW
45 -
44 -
43
42
T T T
750 755 760

m=805, FVO0=0
—o— MW
45 -
44
43 4
42 -
T T T
805 810 815

m=870, FV0=0
45 4 —0— MW
44 -
43 -
42
T T T
870 875 880

m=940, FV0=0
454 —e— MW
44 4
43
42 4
940 945 950




hour

10:00 - I

I I I I

o “’ % R oo & e QLB
N \i ‘\z)‘ ’\i A '\ X IR Uy
S oY A K ’@‘ SET N % - X 3
< < ’%' >\ ? ) _&f&& ,737 gé\

100

- 60

- 40

20



P3-13

BfiE) | FEBEETHC (FY) | EB=E (EH/FK) | XK TR
11:40 288 150.0 |/\fu| {Ri&e@11:40 Bzh (GREfERSR)
2it| 288.0 (1)k) 150.0 32353 KEC: 2080.0, PH: 5.8

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

HEERECE (2620. 0 vs 3640.0) FS

144.0), FlEEHT—R % XA HS
AEREMEC (2620.0) 5i%EEC (2000.0) RELK KA, /T




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=39 (2025-05-09)

- e g g S S B ey P
VI, VB#H¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 1500
100 41070
35 - 1000
] 261 °%°
84 Warning: lcol ["FVI',|"FVO'] missing 150 18744]
0+ i 0 - 63
200 L = V! — ME
FRV maxM - 32

0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.8 N
0.6 -
0.4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D42 :03:03: ET=770 Fg=600.0 Ro=21.0 t
300 -
: e [ 1000
|
200 - I
: )
! - 500
100 I
—o ——¢—0—
0 PN PN 4 . 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
200 M| B | B |Mwm| W | BB wm|wm|®wm|W|[Em|[m| ]| ®m|®m | W |®m|[ ]| ]| ]| | [ B
]
ByEt @D39 19:07: ET=318 Fg=141.0 Ro=nan ! - 1000
200 - :
! - 500
7 ++4_‘__.__._—0—‘/'—_.—H—+4 e
H"Fﬁ_'/._::o/b—r%cocicoco
0 PN PN P W——N 1 0

0 [ 1 2 [ 3T a5 6 [ 7] 8o JtwoJirJi12]T1@8[14a]15[16[17[18]19]2 [21]2T?23
A | P | BA |mf/vima] BA |smnf/ve] BR | BA [ BA | /MR /N [BERD | PER (BemI [P | BA [ FH | BH | BA [ FH | BH | BA

1
ByWoFv @D42 103:03: ET=261 Fg=150.0 Ro=0 - 1000

300

200 -
- 500

100
/'.iC \ 4 4 \ 4
PN P> N S e — S
1.0 T 21 3145 0

oadAM| B [ BH ||| BA A [vEa| BA | BA [ BH |/l | /vEl (B | PSRl | Pma (Bera | BH | BA [ P | BH | BA [ FH | BA

0.6

0.4+

0.2~

0.0

—_— 4
750 + o | _obs
—@— PPFD_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



31.54 —®— ME
31.0
30.5
30.0
540 560 580

m=530, FV0=0

31.5 4 o M_E
31.0 A
30. 5 A
30.0 A
T T T
550 555 560

41.

41.

40.

40.

39.

39.

38.

MW

T
540

T
560

T
580

m=530, FV0=0

41.5 A

41.0 A

40.5 -

40.0 A

39.5 A

39. 0 -

38.5 A

—o—

M_w

550

T
555

560




hour

8:20 -

8:25

9:25

10:35

11:35

12:50

14:00

100

80

- 60

- 40

20



P3-13

Bfie) | GEBIATIC (7)) | EME (EH/H) | XS EFE

08:25 288 150.0 (& =| 1Ri%e08:25 Bz (kBERESE)
09:25 288 150.0 (Z=| 1Ri%@09:25 Bzh (kEBERESE)
10:35 288 150.0 |Z=| 1Ri&@10:35 Bz (RPB{EEE)
11:35 288 150.0 B Rig&e11:35 Bz (REAERE)
12:50 288 150.0 Bl Rige12:50 Bal (REAEESE)
14:00 288 150.0 (Z=| 1Ri%@14:00 Bz (RHEERSE)
24t 1728.0 (6%) 900. 0 3ESFHKEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

HEERECE (2625. 0 vs 3920.0) R

144.0), FlEEHT—R % XA HS

AEREMEC (2625.0) 5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

P3-13_0, Day=38 (2025-05-08)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f——— - f———__—]
VI, VB3RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 1496 | 500
100 41100 H044 1070 1152
50 1 L 500
128 Warning: lcol ['FVI',| "FVO'] missing 84
01 -
( — U
200 - ME Pap
maxM |
T e e B T s e o N R R R ., 50,
100 =
- 28
50
1.0 26
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
X . 2000
Bylnit @D42 p3:03: ET=1208 Fg=1200.0 Ro=41.0 t
1 - 1500
200 A ! :
: - 1000
100 - : // B 500
I -
| I\\\\\~\\\
308: 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 = 2000
FH BH BH |#=]| M BH fg i g 5 i 5 FH BH [A FH FH BH [A FH FH 55 55 55
1 - 1500
200 4 ByEt @D38 19:06: ET=1191 Fg=1152. 0 Ro=nan 1
e—e—o—o—o—o
@ & PN & ) - 1000
100 A A S :
1 - 500
1
—& —&— 1
8 i —: : 4 o \.\ 1 L QOOO
3004 O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
FH BH R EFRERER ER EA ERAERAEAEE REEREES R BH |/\f9| PBH FH FH [H [A FH
1 - 1500
200 4 ByWoFv _@D42 p3:03: ET=822 Fg=900.0 Ro=127.0
i —8—8 - 1000
100 - } y
1 - 500
1
1.0 p——ap —»!L !E 44!! S S i 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 - FH BH R EFRERER ER EA ERAERAEAEE REEREES R BH |/\f9| PBH FH FH [H [A FH
0.6 -
0.4 1
0.2 A
2808 1 —_— 4
| _obs
PPFD_obs
RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



31.

30.

30.

32.

32.

31.

31.

31.

31.

m=455, FV0=0
29.5 { —@—
29.0
28.5
28.0
28
T T T 27 5 T T T
600 800 1000 455 460 465
m=710,m FV0=0 m=775,m FV0=0
. M E 3.5 4
0 -
31.0 1
5 -
30.5
0 -
30.0
T T T T T
710 715 720 775 780 785
m=1010m FVO=0 m
27 —o— ME —o—
40 -
0 -
8 - 38 1
6 -
36 1
4 -
9 34
1010 1015 1020 600 800
m=635,m FV0=0 m=710,m FV0=0
—o— MW 384 —@—
38 -
37
37 -
36 -
36 -
35
35 -
635 640 645 710 715 720

m=525, FV0=0

30. 75 A

30. 50 ~

30. 25 A

30. 00

29.75 A

29. 50 A

T T
525 530 535

m=835,m FV0=0

31.5 A

31.0 -

30. 5 -

T T
835 840 845

m=455,m FV0=0

36. 5

36. 0 1

35.5

35.0

34.5 -

34.0

33.5 -

455 460 465

m=7795,m FV0=0

38 A

37 A

36

35 A

- MW

7

775 780 785

31.

30.

30.

29.

32.

31.

31.

30.

38.

38.

37.

37.

36.

36.

35.

m=635, FV0=0
04 —@— ME
5 -
0
5
Gé5 6&0 6&5
m=905,m FV0=0
—o— M_E
0 -
5
0
5
905 910 915
m=525,m FV0=0
5 4
—— MW
0 -
5 -
0
5
0 -
5 - T T T
525 530 535
m=835,m FV0=0
—— MW
38 -
37
36 -
35
855 8&0 8&5




m=905, FV0=0

39

38 -

37 A

36

—0—

M_w

905

T
910

915

m=1010, FV0O=0
41 1
—e— MW
40 -
39 -
38 -
T T T
1010 1015 1020




